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Answer all groups as per instructions.
Figures in the right hand margin indicate marks.
Candidates are required to answer
in their own words as far as practicable.

GROUP - A

I 1. Fillin the blanks. (all) [1x12
INGI? Jdodl @l (A0L)

(@) The slope of the demand curve is

QIR €I 91 |

(b) Incase of normal goods, __isthe shape of demand
curve.
PR 2MQ QILAEQS! LN RS @RI |

(c) Due to change in price when quantity demanded changes, it
is known as

Q@ 0AQER 62¢ ©I2Qa AAMIGER 622l AfeaRQ
QeIAN |

P.T.O.




(2]

(d) Perfectly inelastic demand curve has shape.

Adl 296QIae QIR 6adl 2RSS @R |
(e) Demand for necessaries elastic.

2GR QIR QIR JeqaR|
(f) Indifference curves are to the origin.

AYANR 2260 IR ALY AR QRN |

(g) Write one property of indifference curve.
UNUAR QREGIR 691G RYE S |

(h) Write one condition of consumer's equillibrium under indi-
fference curve analysis.

ZARUAIR QR60 IRGER AUCAVIT AIRRE 6915~ A8 944
Q|

(i) What is substitution effect ?
909109 gRIQ @4l ?

(j) What is price effect ?
QA YRIQ Q& ?

(k) What is variable cost ?

ARG IANMN 9&1?

APB-KNJ-Sem-|-23-Eco(C-1)/50




(1)

[3]

What is shift in demand curve ?

QIRACAHQ LRI @61 ?
GROUP - B

2. Answer any eight of the following questions within two to three

sentences each.

[2x8

66@I93 G 99 R0Q J604Ra 9 QI G62IT QRYER I 94|

(a)

(b)

(c)

(d)

How can you think like an economist ?
@66 204IIe Gf 9671 FUR Hal @GRS ?

Why economists disagree ?
9INPT FRIER eaIdRY Q06 2N ?

Distinguish between market and individual curves.
PRI 6 PG 6 (IIEQ YEVL Q4ilel |

What is less elasticity of demand ?

@0 §6giae IR @dl?

What is income elasticity of demand ?

2lg gogiaao @l ?

Write two properties of indifference curves.

2R QRERGHIO! @@5‘ MRSl cma! |

P.T.0.




(4]

(g) Write two extreme examples of Indifference curve.
AQNAIR 926040 906 907 AL SAF |

(h) Whatis Budget constraint ?
QR A D¢l ?

(i) Relationship between AC and MC.
201200 IOMA 6 AP TRME FRIEQ S

() Whatis the reason for equality between AR and MR in a com-
petitive market ?

JO64ITN 9RI06Q QIIeR PR AT 2P AANY 62910 QIOg

@€ ?
GROUP - ¢
3. Write notes on any eight of the following within 75 words each.
S6R164 50 T8 geouaq 988 g FIRIEQ 6@ | [3x8

(a) Consumer’s equilibrium
WICWIDleT A3

(b) Engel curve

9Can 9 6oyl
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(c) Price effect
Q! W
(d) Fixed cost
da acaue
(e) Features of a perfectly competitive market
gd gocaficIIRe QRS NYE
(f) Profit maximisation
AR AAGFAE
(g) Whatis Competitive Market ?

gaegien eRIa @€ ?

(h) What are the conditions of firm’s equilibrium in the short-

run ?

JeaIRea TIFa IR AR @6l ?
(i) Marginal product of labour

IR AND QYL
(i) Quasirent

2RINEET




10.
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[6]

GROUP - D

nswer any four questions within 500 words each.

A
@ 800 R IR @2

caedad Y& gga Kl [alaey

What are the factors affecting elasticity of demand ? 7

cipala §6gaeolq dRRE Qe QUARYGR @€l ?

Explain price elasticity of demand. [7
oldqla Qlf| J6QR0! FIAER EME |

What are the properties of indifference curves ? [7
RNIR QREAHIR AREYER @6 ?

Describe the factors affecting labour demand. [7

ge 9IEGIQ gRIRe RSl QUIAIRYER QdQl eal

Price effect is the sum of Income and Substitution effect. Explain

with diagram. [7

Qe gOIQ 6295 21 gRIQ 6 gYINe gRIea §igs | 66 ALidies!
4ol @a

Explain the law of demand. 7
QR 590 4ol 9a
Explain the role of assumptions in economics.

241960 2aI9Ea QFal del el
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